AR 15 (56 6 Z_BALR)

AR T 7 7 i PR B 2 A B 4 A ) R R

(HTHe) AR = A H

EfT
HEgs K4

R

ARE T PEIR AR BB D AT HOWT, TRtD & B HFE L E T, b, ZOHGEIC
B RRBDLZARIEICH T | HERFENLERGA iﬁbt[%%%#XiEE%
ARERICHPBET D ZLICRBLET,

7 U T

]

B 5

PE o K 4

A F A H & H H

al

B N =

B3 Mo ER5, 000HM

(@%$E)

1. HEICIIROEREZIRF LTI,

(1)F%@%@E@ﬁ@H&U@%@ﬁﬁéﬂfwéﬁ%@%%@®3Lxm%%%%
WBITLZEMTELER (FRIBEF=v 27 VAR -EPDS - FHLA~DXFH
BRIZEIZ OV T, iﬁzﬁﬁ”@;faf% % FEHH)

(2) AREHN SR S RS AR R

(3) {2 % Ikt U 7= MBS 3 384T U 72 23RN B AN 0 D FEIGIED B L 2 DA 3 HA
KNI ND H D

2. HENTELDIX, @Z2oRNLEELT1LAEUNTT,



